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BHCFE/\RBRELRAENFARES

% g i - AKSTiE B 2 fiff & & w ZE
B IR 2,690,000 + 54,488 2,744, 488
BEEAGE 2,690, 000
EEEE 54, 488
T DAt 2,690,000 x 53.85% ( 35% = (1 — 35% ) ) 1,448, 565
RBRIE 2,744,488 + 1,448,565 4,193,053
—REEES 4,193,053 x 53.85% ( 35% =+ (1 — 35%) ) — 1,012 2,256, 947
KB 4,193,053 + 2,256, 947 6, 450, 000
HERSMHELE 6, 450, 000 10. 00% 645, 000
EZ: EHAT! 6,450,000 + 645,000 7,095, 000




HENRE SRR\ BRI BENE AR LR

% L] Hs - BIRHE AL % B B ® # m =

BRI 2,744, 488
RETES 2,744, 488
RETES 2,744, 488
HIEES 433, 500
HIEES 433, 500
1 FH B 1.00 433, 500 433, 500

=
RETHENZTRAHOBRE 1,234, 400
RETHENZTRAHOBRE 1,234, 400
2 EMINEEE 1.00 270, 700 2170, 700

EHB (7—X)

3 REHREMNRORET 1.00 353, 900 353, 900

=
4 ETEEORKRE 1.00 353, 900 353, 900

=
5 FERDEE 1.00 255, 900 255, 900

=
E 441, 200
E 441, 200
6 EEIE 1.00 121, 800 121, 800

]
1 PREHRE 1.00 121, 800 121, 800

]
8 mR|ME 1.00 197, 600 197, 600

]
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% R R& - MAKSTE BfL - B ® #8 m o=

EEXY] 580, 900
e 580, 900
9 EHRTHBEEM 1.00 453,700 453, 700

=
10 BRI R MAIER 1.00 121, 200 127, 200

=
B 54, 488
EHARE 22,488
1 EBAME 1.00 22,488 22,488

=
B2 32,000
12 £BHER 1.00 32,000 32,000

=
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THMOEE/\RBLELIDENTRARAES

=1
B FTEER 1KLY
£ 7 R - BAKTiE By = B O{f € 1 B &
HEn R
A 1.00 75, 800. 00 75, 800
F{EHED (55
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57, 000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
= 5 1E%HeH - 1.00K 433, 500. 00 433, 500
5:2
2 BRUREEE 1188 (y—X) &Y
£ 7 R - KT By = B Of € # B &
HEm (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 2.50 47, 200. 00 118, 000
Hftt 8
A 2.00 33, 600. 00 67,200
= 5 E¥8EHh : 1.00lEB (5—X) 2170, 700. 00 2170, 700
&S :3
2 RESRENROREH 1%
£ 7 R - KT By = B Of € # B &
F{EHED (55
A 1.50 64, 800. 00 97, 200
HEn (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 2.00 47, 200. 00 94, 400
A (C)
A 2.00 38, 400. 00 76, 800
= it 1E%HeH 1,00 353, 900. 00 353, 900
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THMOEE/\RBLELIDENTRARAES

&5 4
&% BT EBEOKRE 1=
£ 7 R - BARTiE BAGL 2 B O{f € 1 B &
F{EHED (55
A 1.50 64, 800. 00 97, 200
HEm (A)
A 1.50 57, 000. 00 85, 500
e (B)
A 2.00 47, 200. 00 94, 400
A (C)
A 2.00 38, 400. 00 76, 800
= it 1E%HeH - 1.00K 353, 900. 00 353, 900
55
B EROEE 1=
£ 7 R - BIRTiE BAGL 2 B Of € # B &
F{EHED (55
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57, 000. 00 85, 500
A (C)
A 1.00 38, 400. 00 38, 400
Hftt 8
A 2.00 33, 600. 00 67,200
= 5 1E%HeH - 1.00K 255, 900. 00 255, 900
&S :6
2 . BATHE EED)
£ 7 R - BIRTiE BAGL 2 B Of € 1 B &
F{EHED (55
A 1.00 64, 800. 00 64, 800
HEn (A)
A 1.00 57, 000. 00 57,000
= it 1YEZHEH - 1.00[E 121, 800. 00 121, 800
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&5 .17
AF : hEHRE 1EHY
£ 7 R - BAKTiE BAGL 2 B O{f € 1 B &
F{EHED (55
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
= 5 1YEZHEH - 1.00[E 121, 800. 00 121, 800
%5 :8
A RBRBRE EED)
£ 7 R - KT BAGL 2 B Of € 1 B &
HEn R
A 1.00 75, 800. 00 75, 800
F{EHED (55
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
= it 1YEZHEH - 1.00[E 197, 600. 00 197, 600
&5 :9
B EBTRREER =1
£ 7 R - KT BAGL 2 B Of € 1 B &
F{EHED (55
A 1.50 64, 800. 00 97, 200
HEn (A)
A 2.50 57, 000. 00 142, 500
e (B)
A 2.50 47, 200. 00 118, 000
A (C)
A 2.50 38, 400. 00 96, 000
= it 1E%HeH - 1.00K 453, 700. 00 453, 700
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H5:10
2% NEARRRER 1%
2 Lo R - BAKTiE By B = B ff € B 1 i %
AR (C)
A 1.30 38, 400. 00 49, 920
Hifrg&
A 2.30 33, 600. 00 71, 280
& B 1EZBER - 1.00 127, 200. 00 127, 200
511
2% EHARE 1Ky
2 Lo R - KT By B = B ff € 8B 1 w %
EBRRARE
= 1.00 22,488.00 22,488
& B EZBER - 1.00 22,488.00 22,488
H5 :12
2 EBHRSR 1Ky
2 Lo R - BAKTiE By B = B ff € 8B 1 w %
(BHERE
= 1.00 32,000. 00 32,000
& it EZBER - 1.00 32,000. 00 32,000




